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Discuss the central problems of an economy in relation

to the problems of scarcity and choice. T4

Draw a production possibility curve and discuss its
properties. T4
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{ 3 ) 1152
Explain the law of demand with the help of an example

and dragram.

The quantity demanded of a good at a price of Rs. 8 per
unit is 500 units. Its price falls to Rs. 6 per unit and quantity
demanded rises to 600 units. Calculate its ‘price elasticity

of demand using the percentage method.

Why is the sign of price elasticity of demand

negative ? 753
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Define budget fine. Which factors cause a shift of the

budget line ? Use diagrams to explain.

Derive the demand curve from price consumption curve

for a normal good. 72,74
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Explain a firm’s equilibrium with the help of isoquants and

isocost line.

Explain the relationship between average cost and marginal

cost with the help of a diagram. 74.7Y%
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{a) What are the essential features of a perfectly competitive

market ?

(by  Explain consumers™ surplus and producers” surplus with

the help of a diagram. %1%
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Define monopoly. Compare the equilibrium of a firm
under monopoly with that under perfect competition using a
diagram. 15
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Explain the concept of economic rent with the help of a

diagran.

Explain the backward bending supply curve of labour using

a diagram. TaTA
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short noies on any o :

Law of Equi-marginal utility

Determinants of price elasticity of demand.
Supply curve of a firm under perfect competition.
Public goods

Theory of comparative advantage in iniernaliona

trade. T4 TV
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